© 2024 Hansa Armaturen GmbH - www.hansa.com - 03.04.2024

0138227300003 HANSAMIX - Kitchen faucet

EAN: 7612158362003
static.nansa.com /0138227300003

Spare parts
SP01382273
Name Code

1 Lever, L=87 mm 59914195
11 Screw, M5x8, SW2.5 59904755
12 Bushing 59904778
13 Symbol plug Grey 59912112

2 Covering cap Chrome 59912647
3 Eye screw, M50x1, SW45 59904775
4 Cartridge, 4.8 eco 59904601
41 Hot water limiter 59904759
5.7 Fixing set, M33x1.5 59912717

59 Sealing kit 59912646
51 Supporting plate 59910008
6 Spout Chrome 59912721

6.1 Passing-through bushing 59912724

7 Pull-out spout Chrome 59912722

8.1 Aerator, M22/M24 B 59905901
9 Hose, L=1400 59912720

92 Gasket ring, d 21x12x2 59912304
93 Retainer 59906600
10 Flexible pipe, L=600, G3/8-M10x1 59912719

10.1 Gasket, 9.5x14.4x2 59912551

102 Coupling pipe, M10x1, M14x1, L=230 50912718

NI Hand shower screen 59913878

1


https://static.hansa.com/0138227300003

